Precalculus: Conic Sections and Parabolas

Questions

1. Sketch 6z + 3y — 22 = 9 by hand. Include all steps in your solution. Identify the focus and directrix of the parabola.
2. Sketch 3y? —4y+3x —7 = 0 by hand. Include all steps in your solution. Identify the focus and directrix of the parabola.

3. Sketch y? —3y — 32+ 7 =0 and y — 22 + z = 0 by hand on the same set of axis. Do the curves intersect? If so, can
you determine the points of intersection by hand?

4. Analyze the quadratic y = az? + bx + ¢, a > 0, and show that it is a parabola. Determine the vertex, focus, and
directrix.
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Solutions

1. Sketch 6z + 3y — 22 = 9 by hand. Include all steps in your solution. Identify the focus and directrix of the parabola.
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2. Sketch 3y? —4y+3x —7 = 0 by hand. Include all steps in your solution. Identify the focus and directrix of the parabola.
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3. Sketch y2 —3y — 324+ 7 =0 and y — 22 + = = 0 by hand on the same set of axis. Do the curves intersect? If so, can

you determine the points of intersection by hand?
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4. Analyze the quadratic y = ax? + bz + ¢, a > 0, and show that it is a parabola. Determine the vertex, focus, and
directrix.
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